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Description

Tom has reported that the well head (distance between the top of the casing and the ground level) of Dana well has changed, being
+0.86 meters from the ground, starting from the 26th of July 2021.

Before the correction factor needed to calculate the well water level as referenced to the mean sea level was +0.18 m (meaning 18
cm above ground level).

From the 26th of July 2021, according to Tom, the correction factor has become +0.86 meters.

The problem now is that for Dana we have all readings (referenced to the sea level) before the 26 July 2021 calculated using 0.18 m,
and from the 26 July 2021 a value of 0.86 m should be used instead.

How to do this in Gisaf so that it can be displayed automatically without compromising previous readings?
Before the 26th of July 2021, readings were computed by Gisaf as follows:
Reading referenced on mean sea level = altitude (48 m) + correction factor (0.18 m) - well reading

Example: on the 29th march 2021, the reading was 24.54, so the reding on sea level was 48 + 0.18 - 24.54 = 23.64 m

After the 26th of July 2021, the computation should instead be as follows:
Reading referenced on mean sea level = altitude (48 m) + correction factor (0.86 m) - well reading

So, for the 26 July 2021: Tom's reading was 26.74, the value referenced to sea level shall be: 48 + 0.86 - 26.74

Bala will go on entering the values into Gisaf, deducting the new correction factor instead of the old one. But the computation with
respect to the sea level should be done now differently.

How to do it?

Giulio

History

#1 - 21/09/2021 12:57 - Philippe May
- Assignee changed from Philippe May to Giulio Di Anastasio

Sorry for the late follow-up.

One option is to shift all the values entered with the old reference. This can be done easily, eg. directly with some sql UPDATE query.

That said, we already had some discussions about the reference point used in the database (the same question of display was solved in #12288). |
reflected a bit and got an idea: tt's allowing the mix of values with different references. A column can be added to the table storing the well levels: that

column would contain the reference point of the reading (eg.: 0 for sea level).

We could have a talk about this, hopefully this week?
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